
Bildanalyse und Bildverstehen 
Lösungen zu Übungsblatt 3 
 
Aufgabe 1 
Es ist OB = D–B EB (zuerst ist also die Erosion auszuführen), SB = E–B DB. 
 

  
 
 
 
Aufgabe 2 
DB(f) (x) = max { f(x+b) + B(b) | b ∈ D(B) } 
EB(f) (x) = min { f(x+b) – B(b) | b ∈ D(B) } 
C(f) (x) = M – f(x) 
 



CDBC(f) (x) = M – max { Cf(x+b) + B(b) | b ∈ D(B) } 
  = M – max { (M – f(x+b)) + B(b) | b ∈ D(B) } 
  = M – max { M – (f(x+b)) – B(b)) | b ∈ D(B) } 
  = M – [ M – min { f(x+b)) – B(b) | b ∈ D(B) } ] 
  = min { f(x+b)) – B(b) | b ∈ D(B) } 
  = EB(f) (x) 
 
  
 
Aufgabe 3 
 
Lösungsbild: 
 

 
 
 
 
 


